
Musterlösung zur Bilanzaufgabe 
 
 
 
 

Harry Hurtig / Transporte  Bilanz zum 31.12.2002 
 

 
Aktiva 
 
 
A. Anlagevermögen 

•Schiff      €  450.000,- 

• PKW      €      5.000,- 

•Büroeinrichtung     €      2.000,- 
 
B. Umlaufvermögen 

•Gasöl      €    12.000,- 

•Forderungen     €    10.000,- 

•Bank       €         900,- 

•Kasse      €         100,- 
 
C. Rechnungsabgrenzungsposten 

•Versicherung     €      8.000,- 
 
 
Bilanzsumme     €  488.000,- 
 
 
 
 
 

 
Passiva 
 
 
A. Eigenkapital 

•Anfangskapital € 46.000,- 

•Gewinn  € 60.000,- 

•Entnahmen         - € 50.000,-   €    56.000,- 
 
B. Rückstellungen 

•Gewerbesteuer     €      1.000,- 
 
C. Verbindlichkeiten 

•Bank-Kredit     €  430.000,- 

•Umsatzsteuer     €      1.000,- 
 
 
 
 
Bilanzsumme     €  488.000,- 
 


